B(a,T, p)s ~-B(B,T, p)

<
Gu(@)  G,(B) 5rp 20 (: j
B(a,T +dT, p+dp) BB,T +dT, p+dp)

G (@) +dG,, (a) =G, (B) + dG,, (B)

dG, (0)=-S_(o)dT +V_(a)dp

dG,,(B)=-S,(B)dT +V_,(B)dp
-+ dG, (@) =dG,(B) ..—S, (e)dT +V,_ (a)dp=-S, (B)dT +V., (B)dp

A% Sm = Su(B)— S (@) TPTIY dp APs, a7 Abv,
ANV =Vin (B) =V (@) Al = AV dP dT  Alv dp  AZS,

Co oty B T L +e A% 5 s, =3

s WS e T



ALS, = Sp(B)— Sy, (@)
AV =V () -V, (0)

APs _dT =APv_dp

dp APS,. dT Abv,

APH

m

AL, -

. dp _ AGH,
AT TAPv

dT APv_ dp Afs_

""_-,_;.'__:;:_’-;,'_- AT e T b e R

- i Emors B e T




447 Hg 100 kPa -38.87

rus=9.75J/g (1) =13.690g - cm >
p(s) 14.193g - cm -3
1 10MPa
2 -35
T, AV_
D =g (P p)
Al — M(Hg) Afus '_'p m m/ M n M M Vm :M
V V/M V/M V/n v p
1 1 1
AV =V (1)-V (s)=M - 10°m’ - g™
Vi =V (1) =V, (5) (Hg)( ) p(S)J (Hg)(13 00 14 193j>< m'-g
= M(Hg)x2.589x10°m’ - g™
1/ p(1)—1/ 1/13.690—1/14.193) x10°°
U L Ui 70l p (n—py=t XI0% 107 _100x10°)
T1 A, h 9.75
=(1.0027 x 234.28 ) K = 234.91 K

AH T
(2) p=p +— =(100><103+

S m 1

9.75 - 238.15
2.589x10”° 234.28

) Pa=61.8 MPa



dp  AjH_

dT  TAV,
(1) ATH, >0 AV, =V, (g)-V,1)>0
dp/dT >0
) AV, =V, (g) -V, (1)~V, (2)
V,(g)=RT/p
dp _ p4'H, dp 4'H, -+
—_— 2 f—
dT RT? p RT

Cn iy & %‘_’?‘f&t‘ﬁkfff S A, =

I Emas S e Ty




T/K 349.8 401.2

p/Pa 133.3 1333
1
2 3173 K
1 ) Inp(Tz):AvapHS[l_ 1]
p(.) R T T,
Ao Hy =52.27 kJ-mol™
2 3173 K -

2.27x10° J-mol™ 1 1
p,  52.27x10°J-mo ( j 0 —21.20Pa

349.8K 317.3K

n —
133.3Pa  8.314J-K*'-mol™




